1. (two of these) …………………….
 7. (inner wall of #6) ………………………
2. (finger-like) …………………......
 8. (middle wall of #6) …………………….
3. (no longer asked)


 9. (outer layer of #6) ……………………...
4. (hair-like, inside the tubes) ……...
10. (lowest end of #6) ……………………..
5. (no longer asked)


11. (name of the opening) …………………
6. (the entire big structure) …………
12. (#10 opens into this) …………………..

1. (the opening) ……………………
 9. (no longer asked)
2. (the end structure) ………………
10. (no longer asked)
3. (a layer of skin) …………………
11. (secretes a fluid) ………………………
4. (goes all around) ………………..
12. (2 small ducts) ………………………...
5. (a pair of cylinders) ……………..
13. (a gland) ………………………………
6. (a single cylinder) …..…………..
14. (2 small glands) ……………………….

7. (a bone) …………………………
15. (back end of #6) ………………………
8. (a tube) ………………………….
16. (sperm go here before entering #8) 








16 = ..………………………..



Either fill in 

the blanks

(for 12 points), 
or answer all
the essays if 

you skip this

page. 

If you answer

this page, skip

2 of the essays.

Each correct answer 

equals  1/2  point. 



Each correct answer 

equals  1/2  point. 

Each correct answer 

equals  1/2  point. 

Each correct answer 

equals  1/2  point. 
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 7. (inner wall of #6) ………………………
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 8. (middle wall of #6) …………………….

3. (no longer asked)



 9. (outer layer of #6) ……………………...

4. (hair-like, inside the tubes) ………..
10. (lowest end of #6) ……………………..

5. (no longer asked)



11. (name of the opening) …………………

6. (the entire big structure) …………..
12. (#10 opens into this) …………………..

1. (the opening) ………………………
 9. (no longer asked)

2. (the end structure) …………………
10. (no longer asked)

3. (a layer of skin) ……………………
11. (secretes a fluid) ………………………
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